Year 11 Mathematics — Half Yearly Examination

May 2011
Question 1 [Maximum mark: 10] [Start on a new green sheet]
2 3

(a) Evaluate ngz correct to three significant figures. 2

5.6-1.2

X 2
b)  Simplif + 2
(b) - Simplify (-4 x=2

1
(c)  Find integers a and b such that = a+byB 2
J5-2

(d) Showthat f(x)=x"*+3x*-1isan even function. 2
(e) Solve the inequality x*-x-12<0 2
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Year 11 Mathematics — Half Yearly Examination

May 2011

Question 2 [Maximum mark: 10] [Start on a new green sheet]

(@)  The diagram shows a sketch of the curve y = g(x) 3

(i) Write down the range of g(x).
(ii) For what values of X is g(x)

e |ncreasing
e Decreasing

(b) Shade the region in the Cartesian plane for which the following inequalities hold

simultaneously.

y<x—2, y>0 and x>6 3
(c) Simplify : 6 ;nZ 2
(d) Solve 97°=3 2
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Year 11 Mathematics — Half Yearly Examination

May 2011
Question 3 [Maximum mark : 10] [Start on a new green sheet]
(a) Evaluate the following limits:
M) lim 2X*3
X—2 X_l 1
3 —
i lim X222
x—1 X—l 2
(b)  ABCD is a parallelogram. Find the values of m, w, y and z. 4
E
m
F
A w T T B
8cm
Z 100°
C ycm D
(c)  Sketch the following graphs and state their domain.
(i) y =16 —x? 1
. 3
(ii) y=——, -3<5y<-1 2
X—2
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Year 11 Mathematics — Half Yearly Examination

May 2011

Question 4 [Maximum mark: 10] [Start on a new green sheet]

(a) Find the value of x. 2

7\
/X
7 X

(b) ABCDis a rhombus, AX is perpendicular to BC and intersects BD at L.

Not to scale
(i) Copy the diagram into your Answer sheet and explain why
ZADB = ZCDB. 2

(ii) Prove that AALD and ACLD are congruent.

3
(iii) Show that ZDAL is a right angle.

2
(iv) Hence or otherwise find the size of ZLCD 1

End of Examination
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Year 11 Mathematics — Half Yearly Examination

{Start on a new green sheet]

[Maximum mark: 10}

Question 2

{a)  The diagram shows a sketch of the curve y = g{x) 3
X
i Ae iee bkl | .
} sl o ’ (i) Write down the range of g{x). [__{__\j_,: £ 5 <3 tj € R} é
W oorvusadt
Ej’ ,M%Wﬁ £ 4 {ii) For what values of x is g(x)
e Increasing } L8 I T ks
s Decreasing a<w x <O, b“'x‘;dJ
. (b) Shade the region in the Cartesian plane for which the following mequai:tses hold
Sa & [ %fse_m bl
simuitaneously. ///// be 44w % prge.
et ‘2/ /"f & ﬁmgf Ghowold by
y<x=2, yz0 and xz6 ‘2 / 3 used
/ @ g%k' ‘f&fﬁ&f ¥ 4“”‘&5«
/ :‘\_v@w\&w_f& ﬁ-,%x.‘ s
{c) Simplify: mém— > + _ M&m
Bedwvie fo ?rimg 2
e @.!:
(d)  Solve 97 =3 2= . or 2
y - L
32 (_?-“?}::3! 'Ji— qx ;: q\_, ioj g mx,-g Egﬁq [Oj‘n
0.5 =373
2 (2-3)y = v =30y 3.5 = @”9 !"ﬂm
-3 = "% =3y x-3 = lo '*’3
ol = % -'5'3 g Qﬂu
: T 1Y x-3 =2
{;c, =35 oy =
- \ *=33
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